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Gegeben	
  ist	
  die	
  Gerade	
  g	
  mit	
  der	
  Gleichung	
  y	
  =	
  	
   3 x	
  −	
  2	
  und	
  die	
  Gerade	
  h	
  mit	
  der	
  

Gleichung	
  y	
  =	
  x	
  .	
  Berechne	
  die	
  Größe	
  des	
  Schnittwinkels	
  von	
  g	
  und	
  h.	
  	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

Hier	
  hilft	
  zunächst	
  eine	
  Skizze:	
  

	
  
	
  
Für	
  jede	
  Gerade	
  gilt:	
  

	
  
tanε = Δy

Δx
	
  

da	
  zudem	
  
	
  
m= Δy

Δx
	
  

folgt:	
  tanε=m	
  
	
  
Damit	
  kann	
  der	
  Schnittwin-­‐
kel	
  einer	
  Geraden	
  und	
  der	
  	
  
x-­‐Achse	
  berechnet	
  werden.	
  	
  
	
  
	
  
	
  

Für	
  β	
  folgt:	
  tanβ=1	
  	
   	
  β=tan-­‐1(1)=45°	
  
	
  

Für	
  γ	
  folgt:	
  	
  tanγ=	
   3 	
  	
   	
  γ	
  =	
  tan-­‐1(	
   3 )=60°	
  	
  
	
  
	
  Der	
  Nebenwinkel	
  zu	
  γ	
  misst	
  120°	
  
	
  Aus	
  der	
  Innenwinkelsumme	
  für	
  Dreiecke	
  folgt:	
  α	
  =	
  180°-­‐45°-­‐120°=15°	
  


